The Compound Pendulum

Experiment 2:

1 in this eipefiment, you will be required io investigate how ihe period of casciliation of a
metre rule is affected by the pesition of a mass attached to il
{a} () Pass the pin through the smalf hole at the top of the ruls, and flrmly damp the
cork 50 thal the rile hangs vertically and can swipg hasly In 2 vertical plane as
showriin Fig. 1.1,
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Fig. 1.1
)] Aﬁach the 1 D0g mass close to the botiom of the rule. Measure and record the
digtance ¢ between the pin and tha cenire of the mass. Describe how you made.
this measurement. ‘. ke
(i) Stghlly displace the rule, so that it performs smaff oscillations. Make and record
measurements in order o determine a vaiue for the perlod T of these ascillations.
Hep’éal the axpariment {or diffsrent valuas n¥ o untll you have a \otal of five sels of
readings for dand T. Values of d shoufd not be less than 30cm.

. (W)
{bj Theory predicts that Tand d are related by the axpressian

=)

whore m = 0.10kg and / and & are consianis.
{I) Tabuiate valuas of 72 and &2 o
{1 Justity the number of significant figures which you have quoted for 7% and for &*
iy Pist these values of T2 and d2 on the graph grid on page 5.

v}  Draw the best straight ine to fit your points.
{6} By taking appropriate measuremerts from your graph, detarmine numerical vahes,

including appropriate unils, for kand L
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